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Strona nr 2Brzozy jesienią



Symbol Nr nici Krzyżyki Motki Motki Motki
2 nitki 3 nitki 6 nitek

 Anchor 1 247 1 1 1

 Anchor 46 78 1 1 1

 Anchor 47 36 1 1 1

 Anchor 266 237 1 1 1

 Anchor 268 207 1 1 1

 Anchor 280 758 1 1 1

 Anchor 281 914 1 1 1

 Anchor 298 391 1 1 1

 Anchor 306 536 1 1 1

 Anchor 307 822 1 1 1

 Anchor 308 326 1 1 1

 Anchor 357 356 1 1 1

 Anchor 371 190 1 1 1

 Anchor 397 309 1 1 1

 Anchor 399 208 1 1 1

 Anchor 403 213 1 1 1

� Anchor 975 574 1 1 1

 Anchor 976 741 1 1 1

 Anchor 1047 815 1 1 1

 Anchor 1048 1323 1 1 1

 Anchor 1049 866 1 1 1

 Anchor 1064 853 1 1 1
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